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QUESTION 1

Which three solutions does the software-defined data center (SDDC) help build? (Choose three.) 

A. Native cloud 

B. Secure cloud 

C. Hyperscale 

D. Hybrid cloud 

E. On premises 

F. Public cloud 

Correct Answer: DEF 

Reference: https://www.vmware.com/solutions/software-defined-datacenter/in-depth.html#delivery-options 

 

QUESTION 2

A customer needs a solution to provide Layer 2 connectivity between vSphere and KVM hypervisors. Which VMware
solution should the customer use? 

A. NSX Service Mesh 

B. NSX Cloud 

C. NSX-T Data Center 

D. NSX Intelligence 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.3/com.vmware.nsxt.install.doc/ GUID-
A1BBC650-CCE3-4AC3-A774-92B195183492.html 

 

QUESTION 3

A customer needs to create a multi-tier network infrastructure. 

What does the customer need to do to create this infrastructure? 

A. Connect segments to a Tier-1 gateway, and connect the Tier-1 gateway to the Tier-0 gateway. 

B. Connect segments to the Tier-1 gateway only. 

C. Connect segments to a Tier-0 gateway, and connect the Tier-0 gateway to the Tier-1 gateway. 

D. Connect segments to the Tier-0 gateway only. 
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Correct Answer: D 

 

QUESTION 4

What is the benefit of connecting segments to Tier-1 Gateways? 

A. Enhanced cloud consumption model 

B. Enhanced micro-segmentation model 

C. Enhanced East/West communication 

D. Enhanced North/South communication 

Correct Answer: C 

Reference: https://www.vgarethlewis.com/2019/12/17/vmware-nsx-t-logical-routing-part-1-tier-1-gateway/ 

 

QUESTION 5

A customer needs to manage and extend their data center network into VMware Cloud on AWS and Microsoft Azure
Cloud. 

Which VMware product should the customer use? 

A. NSX Cloud 

B. NSX Intelligence 

C. vCloud Director Extender 

D. vRealize Network Insight Cloud 

Correct Answer: A 

Reference: https://www.vmware.com/products/nsx-cloud.html 
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